BEK R EE K
P N S - S N - N = W=
poomo x| g a A 4, %i@?%ﬁﬁ%dﬁz (;EEE28$SH 2+ A)
77 5]
o1 BEXIT N S N R ) 7Rl 1,097 1, 185 2, 282
o2 WERIT O b R F o K| 1,303 1, 528 2,831
O3 WERIT O H O E b K 885 1,024 1, 909
o4 REXE b OB AT R & fE ak = 88 2, 198 2, 066 4, 264
b WERIC b &K ok v ¥ — 834 915 1,749
o6 WERIT N o A o o 7B 1,703 2,099 3, 802
g7 BREXIW s ROk K| 1,076 1, 384 2, 460
g8 HEXIVE BT O A fm Ak = fE] 1,292 1, 891 3, 183
g9 BEXIW sz Jdb ok A K| 1,560 1, 887 3, 447
F1OoHREXIH s B db F o ]| 1,817 2,070 3, 887
51 1 HREXIAE L w A moak = 1,096 1, 268 2, 364
1 2BERIE XA E Mm% —| 1,657 1, 744 3, 401
1 3EEXITH s E K K 1,032 1, 034 2, 066
F1ARERIT OS2 1 ook % K| 1,782 1,771 3, 553
1 5HEEXIT s Rk A K| 2,513 2,780 5, 293
FleREXIF HFaIla=7T &% —| 1,258 1, 589 2, 847
F1THERZERIT O £ OB b F K 2,019 1, 879 3, 898
1 8EHEXE B BT R A & otk = fiF 958 860 1,818
1 9 BRGNS IR E S 2 —| 2,430 2,333 4,763
FoOoEXIT 2 B ¥ o &l 1,909 2,020 3, 929
F2 1 EEXIT st R o K 863 872 1, 735
Fo2EXIT S Sk H oA [ 2,181 2,200 4, 381
Fo3pEXT s b 2 /A = K| 1,522 1, 642 3, 164
FoAaBEXIT s &I o %l 1,119 1, 292 2,411
52 5 WX L AL AR il e A B 1,973 2,125 4, 098
Fo26HEXIL & Xk A @Ak = B 1,818 2,172 3,990
H2 TREXITT N O HO#H b %O 2,596 2,761 5, 357
o 8EHEXIM K HT BT N = fiH| 2,461 2,753 5,214
F2ORERITT N R O® N F O 1,739 1, 994 3,733
F3OZHEXIT o o ) N o B 2,744 3,016 5, 760
FI1IHREXE X b R A& & k& fH 1,660 1, 858 3,518
3 2WERIT N 8 M o T K| 1,744 1, 852 3, 596
FIIREX|IDE LAl 2a=T 18 F—| 2,182 2, 298 4, 480
F3AZHEXIT s B N g K 1,474 1,774 3, 248
3o IERIE H &L W ok v ¥ — 265 338 603
F3OHREXE / imaIla=T 12— 1,622 1, 491 3,113
F3TEEXIT S W w1, 723 1,771 3, 494
F38HEXITT N fh OB ) ? % 4,331 3,961 8, 292
FI3OEHEXIT oy N 7 A ] 2,963 2,827 5, 790
%4 0 FEXIH A 9N E i 880 916 1, 796
FATREXME S 7 7 2 U —& v ¥ — 635 628 1, 263
& 7 68,914 | 73, 868 142, 782




